
08-06-2025

Arc Cross Braces - Rigid 

Item Number Part Number Description Quantity

1a, 2a, 3-11 112948 Rigid Cross Brace Kit Small, Arc 1

Includes parts for both sides.



08-06-2025

Item Number Part Number Description Quantity

1b, 2b, 3-11 112949 Rigid Cross Brace Kit Medium, Arc 1

Includes parts for both sides.

1c, 2c, 3-11 112950 Rigid Cross Brace Kit Large, Arc 1

Includes parts for both sides.

1d, 2d, 3-11 112951 Rigid Cross Brace Kit X-Large, Arc 1

Includes parts for both sides.

1a 110170 X-Tube, Small, Arc 2

1b 110171 X-Tube, Medium, Arc 2

1c 110172 X-Tube, Large, Arc 2

1d 110173 X-Tube, Extra Large, Arc 2

2a 111600 Extension, X-Tube, Fixed, Small 2

2b 111601 Extension, X-Tube, Fixed, Medium 2

2c 111602 Extension, X-Tube, Fixed, Large 2

2d 111603 Extension, X-Tube, Fixed, X-Large 2

3 110183 Saddle, X-Tube 2

4 110184 Bushing, Pivot, X-Tube 4

5 111599 Plug, Square, 1" x ,72" 2

6 101830 M8 x 70 HHCS Blk Zn 1

7 101825 M6 x 40 HHCS Blk Zn 4

8 110287 Nut, Toplock, M8x1.25, CLS10, BLZ, DIN980V 1

9 100658 M6 Nylock Nut Blk Zn 4

10 110295 Washer, Nylon, .323ID x .625OD x .031 2

11 100831 1/2" Washer OD .040" Thick 8


